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Advance paper for ITI-Fitter Category-1l ST/ TM

1inchequalsto____ cm.13d YA & SRR BT gl

A) 0.254 - |B)2.54 C)254 D) 0.0254

A micrometer has an error of +0.02 mm. What is the correct value in mm when the

micrometer reads 25.41 mm? U& TigsiHieR & +0.02 fiddt @t 3fe 31 aamma 2541
ﬁ:ﬁm%ﬁﬁtﬁﬁﬂé’mﬁw%? |

A) 2539 ‘ B) 25.37 C) 25.43 D) 2545

| ar'cﬂ?n%i

‘V' block is used to hold round bar. The V' block usually has an angle of

V' S MAeR B8 &) @ %ms@mﬁ»‘mm%l ¥ Ve MEIRT P |

A) 30° T B)600 C) 759 D) 907

The operation of threading in a drilled hole is called . Tsa TU ¢ g # af$w
Wishal &I I Al Bl |

A) Tapping ST | B) Drilling ISRFT | C) Reaming ST | D) Grinding J&F&

While grinding one mustuse ___  URISTH TRT &1 IGINT ST dligU|

A) dark glass screen | B) safety goggle [ ¢ Jelding Helmet | D) sun goggleu :
S MY B TP T T @) . ofcET 2alle 0 T IRATENTE)

A bearing has nomenclature 6310 %Z k- 10 is'related to of the bearing.
TP SR BT AHF6310 2271 T8 - GROF_. IgwfRd gl

A) Iength B) . Inner diam~". ¢ C) Size | D) Outer diameter
Had o DR Sedl I

The quality control allows at the' most 0.4% defectlve parts. How many defective parts
can be allowed in a production of 500 parts? TUaTT Tz Hae 0.4% Srequl HF Bt
3ARI & & 1 500 HFTT & Seare H b 2rayul il &t arafa & S ebar 82

A) 0.2 B) 200 C)2 D) 20

The most commonly used standard length of hacksaw blade is . 3h Yl &S DI
T S A Pl FE A-p dag gl

A) 6inch - B) 8 inch C) 10inch D) 12 inch

Which is the weakest elementin a flange coupling joint? Teiol BUrerT o WW 33T |
B T2

A) Flange ¥cisl | B) Shaft IMUE | C) Key @t | D) Bolt e

10.

Which of the following is used for transmission of mechanical power?

gifyet i & uaR & fore fFufafa & @ 19 ar sudim fear s gear 872

A) Chain SR |'B)Beltde® | C) Coupling BUIHT | D) All of these 3 Fi

oy

Rust is. formed from reaction of iron and _ ) ﬁf%’ 3R ﬁﬁﬁm ST g4 a1 é

A) H2 B) N2 C) 02 D) CO2
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The peen of a cross-peen hammeris . HI-UH Eﬂ?@' CHRVIE]

12. g gl
A) bent towards the | B) cross to the handle | C) both A & B D) none of these
handle TSP AR B TR®ET TTH A TE
| Beu @l AR g
13. | Brass is an alloy of G| o iy ag B .
| A) Copper and Tin | B) Lead and Tin C) Copper and Zinc | D) Copper and Silver
14. [1 mm s equal to micron. 1 BTl TP & SRR g
A) 1000 | B) 100 [C)10 | | D) 10000
15. | A cutting tool used to finish and enlarge a hole is known as . &% @1 oRufea
- | IRTEI A P R Y TR TR PIRTA B SEled g
A) Drill 3@ |B)Tap<cu | C)ReamerdiX | D) Die S8
16. | The ability of a metal to be drawn into wire is a measure of its
T P AR ST §F D) &HT SHP! 1 TP A9 5| |
A) Ductility B)brittleness C)Malleability D)Hardness
17. | The angle which is less than 90° is called . 9 I 90° Y HH B, 39 ol
GG ‘
A) obtuse angle | B) acute angle C) right ar e D) None of these
| A DI oL S B A8l
18. | Which among the following unit is the large’ . init for measurement of angle? fAafei&d
¥ PH f I B0 A ) T T | s0T3 82
A) Radian IS4 | B) Second @€ ' | .C) Minute FIFie | D) Degree fSU1
19. | In grinding wheel specification, symbol*V’ represents RIS @i e 7,
Tt V- @) <Rl Bl | . |
A) Grain size B) Grade C) Type of bond | D) Abrasive grit size
FUFHPR | IS 1S B PR 01 fire 37 SR
20. | Which one of the following is primarily a removable type jomt'?ﬁ'ﬁﬁﬂ-@ﬁﬁﬁﬂa?m qHe
0 q g AT g B PR 87
A)Welded joint B) Riveted joint | C) brazed joint | D) bolted joint
21. | Which one of the following materials is used for making a grlndlng wheel’? Fafafead g
g uard @ TS aEld s & fore Sud foan o &2
A) Silicon carbide «..| B) Lead sulphate | C) Sodium chloride | D) Calcium carbonate
foferpi- pralgs. | oS G@he OfETH FRIES
22. | The process.of precision grinding of part with loose dust type abrasives is known
as Bl Y@ PR ¥ oUNs YA ISR uipm e P wmrsl
A) Honing BIHTT. | B) Polishing TR, C) Lapping dftft | D) Buffing Sfth
23. | The point.angle of general purpose twistdrillis ______ . 9HN Ie=4l & fad Eﬁ'ﬁﬂﬁ Gol
TR e aeRigem_ @ael
A)12° B) 118 ° - | C)90° D) 45°
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24,

The grain size of a grinding wheel is indicated by numbefs 'Véry Fine' grain size is

indicated by number . EfEn & & Sur &1 " demel fera fasan S
2 9gd Slle SU P AU Gend gd furears|

A) 10-24 - B) 30-60 C)80-180 D) 220-600

29

Which material is highly brittle? @I- 9T Uard 3f@fie YR §?

A) Copper dTal | B) Lead ¥4I | C) Carbon steel ®T8 ¥d | D) Cast iron HRE A

26.

What is the colour of an Oxygen cylinder? Tdb 3ffeRiTer RicisR T 11 1 Blal 82

A) Brown I B) Black &Il C) Red el D) Grey &&X

27.

SWG is used for measurementof ____. SWG A9 & ferg wan. fasar S g1

A) pitch of the thread | B) length of wire | C) thickness of sheet D) type of the thread
el | IR PIEER | AR PIARE U P USFR

28.

Which of the following can be bent into u shape? FgffEa & T fea g PR oS
W THdl 8?7

A) Cast iron bar B) Mild steel bar C) Concrete bar - D) All of these
BHRE R TR AR Wid ) heblc IR Bl
29. | Which is generally applied for identification of unevenness of two mating surface? a’fgmr
g & TG DI Ug= & 1T, 31 AR IR 1 TN fohar Sl g7 _
A) Prussian blue B) Penetrant C) bathA&B D) none of these
gRagEsy | S | dRAeH | TR s
30. | Select the most appropriate answer? The «sast count of Vernier calliper is ey
| SUYH IR P TG H7 IR FRAIR 1 SIS 8l |
[ A) 1 T (mm) B) 0.5 BT (- .9 . | C)0.001 FH (mm) | D) 0.02 BT (mm)
31. | Graphite is a ___lubricant.” +pTge T WEh ¢ | '
A) Liquid @%@ | B) Semi-liquid 31¥f-a¥@ | C) Solid@3R | D) None of these
- aﬁ@raﬂ's‘ ol
32. | The gush bearing is generally.made of . g1 ST 3 AR TR g &
Bl gl
| A) Bronze ®/® | B) White metal 9% U | C) Steel €1 | D) Cast iron HRE TR
33. | Millimetre scale in a micrometer is marked on b rnsaﬂtﬂaﬂ‘ fieidier o
I wiRafEaar s , :
A) Spindle Rig@ * {B) Ratchet ¥@c C) Thimble for@ D) Barrel &R@
34. | The diameéter of a hole is measured by____. U%h &% TSI ____ gRT AT Sl & |
'A) Depth micrometer B) Dial Ga:.ige | C) Inside micrometer | D) Outside micrometer
SRR TTIES AEHHCR | HISTHES
35. | Least count ofbevel protractor is . ST TIaeR BT 3T gl
A1 minfBFc . |B)5minf¥ e | C)0.5degreef&l | D) 1 degree f3¥I
36. | Combination pliers are not used for B TR B & fore Iug

5t fpan ST B

A) Cutting BT B) Twisting e | C) hammering €A1 | D) holding BifeET
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37.

A tap is broken at the surface of the work piece, this broken tap can be removed by using
Gb TSI e JUH U CE TS, TH G EU U B & Ium
P w1 THdT 2

A) punch B) cutting plier C) tap extractor D) welc_ling
Ug . BT WRR 0 Feprs | af&m

38.

Choose most appropriate answer. Desirable hardness in a file is generally 5 HE’@T

SRE IR G| fFeft e & ai-Ig FoRAT IR W . Bt &l

| A) 20 HRC 'B) 60 HRC C) 80 HRC - D) 30 HRG

39.

Which of the following cannot be used for locking of a bolt. e B AP I S [T
i o 3 g Suam 78 fear ST gear 31 :

A)wire dR | B) Disc washer &% ¥R C)nut ¥¢ D) spanner W

40.

{ It is similar to screw but it has no head and it has threads on both ends, center portion

has no threads. Itiscalled______ 98 U9 & 90gQ §, 391 Ps R A8 % ah?
565 OF OiR U ¥, AT mevm Fie R, S eIl o

41.

| A) DE Spanrier Sl @R[ B)Nut ¢ | c) Bolt &ee D) Stud ¥
is not a lapping compound _ Eﬁ’ﬂTGE‘:':IEFT

A) Silicorl carbide B) Aluminium Oagde C) Iron carbide D) Bon;on carbide
Rt Faigs TR iEs | IRA PiEigs IR PTaiES

42.

Filler gauge is used to check . fheR 7ol ____ @ @R [o1¢ XA [91 olTll g |

A) gap SfRTd | B) length TaTg 1= <pth RIS | D) diameter 319

43.

Which of the following is not a cutting tool m Jial? EfeRad ff q B I T IS [+
saren gerd el g2

A) HSS B)Tungsten Carbi® ~ | C) Ceramic D) Wrought iron

44.

What is the value of thread angle of metric.threads in degree? Iﬁﬁ?ﬁ d8 T U BT B0
fopan 3t 82

A) 60 ﬁs) 30 1:C) 55 - | D)75

45.

Which of the following is not attracted by @ magnet? F@ad & ¥ &9 91 el da@

GRT B el gt 872

A)SS(THTH)410 | B) ssmwmms C) Carbon steemé?r D) All of these
LS| ' Tt

46.

Guide piniscalled 11133 g &I ﬁéﬂ Il g

A) Dowel Pin St 18 H | B) Hello Pin &<t & | C) Spiit Pm.ﬁzﬁq D) Tab Pin 28 o9

47.

Stainless Steel is generally made from lron and W0 Wi (M IR R die
AR § AN 81

A) Cr | B)K |Gy Ca_ -TD) He

48.

Chemical formula of Acetylene is &1 IMAHAD TF ' Bl

A)CHs . | B) CaHz | C) CeHs [D)yco

49,

Convert 4/5 into decimal? 4/5 & SHAd H SGA?

A)0.4 B) 0.5 C)0.6 - |D)0.8

50.

Choose most appropriate option. Full form of PSl is _ per Square Inch.

Ty U f[AHed 94| PSI 1 QUi &9 _ __gfaw 91

A) Pounds U968 | B) Pressure G814 | C) Power & | D) Potential [3Ha
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